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Activity Sheet
Name: Class:

( Answer these multiplication questions. ’

0 Granny’s chocolate brownies cost 60p each.

How much will 9 chocolate brownies cost? .‘_* £5.40 *L.
9 A carton of orange juice costs 80p. } £4.80 {
How much will it cost Granny to buy 6 cartons? .‘_* . *L.
9 A packet of potato cakes costs 95p. } £4.75 *
How much will it cost Granny to buy 5 packets? .‘_* . 2
Q A tin of tuna costs 78p. ) S £3.12 x
How much will it cost Granny to buy 4 tins? .‘_* . *i.
6 Granny’s bag of brown rice cost £1.50. * £4.50 *
How much will 3 bags cost? B : *
@ Granny’s jar of olives cost £1.25. How } £5 *
much will 4 jars cost? B 2
@ A box of 12 eggs cost £2.45. ) S £7 35 x
How much will it cost Granny to buy 3 boxes? .‘_* : *L.
g A carton of blueberries costs £3.29. } £6.58 {
How much will it cost Granny to buy 2 cartons? .‘_* . *L.
Q Granny’s jar of special honey costs £4.99. } £14.97 *
How much will 3 jars cost? B : o4
@ A bag of dog food costs £6.98. £27.92 x
How much will it cost Granny to buy 4 bags? .‘_* : *i.
(Think of your own multiplication question, using money, for a friend to answer. )

(Accept all reasonable responses)
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